2011/2012 INE3FE BF500m

2012.03.31
JIE 4L A4 L K % T B # H % P XK= 4
1 0:50.47 &%l —xE = rE 2012122 I LHx—7 BIOa1=Z7HEIE
2 0:51.39 H& E 2012212 5 25T %t
3 05146 =#H RK wAL 2012212 X% 95Tt
4 0:51.87 #FHith XiZ R 2012225 BT FH ELAAMKE
5 0:52.12 Ll KB5 fREHE 2012122 ITLHz—7 BIa=-7HEIiE
6 0:52.36 WA —pk &R 2012122 ITLHz—7 BIa=-7HEIE
7 0:52.76 HO #E NMEE= 2012122 T LHz—7 BIa=7HEIE
8 05294 # FIX JI1}=2 2012122 ITLHz—7 BIa=7HEI(E
9 0:53.21 IR BA [ 2012122 T LHx—7 BIa=7HEIE
10 05405 EHE HE EIJI 2012122 I LHx—7 BIa=7HEIE
11 0:54.29 UK BEEK R 2012122 T LH—7 BIa=—7HEIE
12 05432 =EH Hith ERE 2012122 ILHz—7 B az=—7HEIE
13 0:5451 =k Aith NMEE= 2012122 ILHz—7J B az—7HEIE
14 0:55.03 #H K& &% 2012122 ITLoxz—7 BIOaZF7HRIE
15 05552 (R £E NEE= 2012122 ITLoxz—7 BIOaZF7HRIE
16 0:56.07 &%l {28 pi:J: 2012212 ¥% 95T 5wt
17 0:56.20 {FiE iE NEE= 2012122 T LHI—7 BIa=7HEIE
18 0:56.24 # fiE g 2012.2.11 % mERh A K=
19 0:56.49 1M EA ER 2012212 5 25T %t
20 0:56.56 &HTF ¥ b4k 2012122 ITLHz—7 BIa=-7HEIE
21 0:56.86 #AE EIE aE 2012122 ITLHz—7 BIa=-7HEIE
22 0:56.90 # EH NMEE= 2012122 ITLoxz—7 BIOaZF7HRIE
23 0:58.43 HEHY KX A48 2012212 FE5 25T %t
24 0:58.72 &R A b4k 2012122 ITLHz—7 BIa=-7HEIE
25 0:59.02 £EiFE BEX &R 2012212 5 25T xR
26 0:59.77 & £ 8 2012212 %% 95Tt
27 1:00.20 ik BAX £iR 2012212 FE5 9257wt
28 1:00.71  #RZBE BE3} i 2012122 I LHz—7 B az—7HEIE
29 1:01.19 5 KX NEgE— 2012225 Et+HFH ELAAMKE
30 1:01.39  /\bk iR I\F& 2012122 ILHz—7 B az—7HEIE
31 1:0247 SH &K = 2012122 ITLoxz—7 BIOaZ7HRIE
32 1:03.08 il & e 2012122 ITLHxz—7 BO1Z7HEIE
33 1:.03.16 THA 18 LB 2012122 ITLoxz—7 BIOaZF7HRIE
34 1:.03.48 /Nt EAr ®iR 2012212 X% 95T %
35 1:0430 HE #Hk NLEE— 2012.2.11 EXEH e RE
36 1:0445 T KK R 2012122 ITLoxz—7 BIOaZF7HRIE
37 1:0499 #H B3 HA 2012122 ILHxz—7J B az—7HEIE
38 1:05.23 E [EA Z£H 2012122 ITLHz—7 BIa=-7HEIE
39 1:0546 KiZE B 15 2012.1.14 5 BOa-—7dEE
40 1:0580 dLiZ® fE w 2012122 ITLoxz—7 BIOaZF7HRIE
41 1:05.98 f@E=E 2 = 1| 2012212 ¥% 9257w
42 1:0654 {£E4<K EZKX HO 2012212 R WEMtE 52—
43 1:.0666 HE f#X 3R EEN 2012.2.12  #¥\EH Rt 22—
44 1:07.03 ®H HE EER 2012.2.5 BHIR BHRRE
45 1:07.06 WK KiE NGB 2012122 ILHz—7J B az=—7HEIE
46 1:07.10 %M@ = NEEZ 2012225 E1XEFH ELAIOMKE
47 1:.07.46 ¥ £t 7k BA 2012212 EH 95T 5t
48 1:07.74 RIE& B EXR 2012212 E5 92T 5wt
49 1:1018 &R = NEgE— 2012219  8BHR BHAA 1= T7HE
50 1:1067 BiE £5K bld 2012.1.21  RR;H FEABE



2011/2012 INE3FE BF500m

2012.03.31

JIE 4L A4 L K % T B # H % P XK= 4
51 1:10.72  #MIl ZX B HIRAAER 2012122 ITLHz—7 BEIa=-7®EIE
52 1:1093  EK EK I\TFHE 2012212  RXR;H WEMtE2—1F
53 111273 AR E&E B HIRAAER 2012122 T Lz—7 BIa=7HEIE
54 1:13.79 —A&XK Bhtg  KHETE 2012.2.5 AR Kitgis

55 111503 Hik =N gH 2011.12.17 @& h{EXEER LS
56 1:16.71 /AR FDBE ER/NFER 2012.2.5 N Kitgrs

57 1:18.66 /A Eth EER 2011123  WJFEH INEETRWA

58 1:21.54 @@ 5 I\TFHE 2012212  RAJR;H MRS 52—
59 1:22.36 FJMk kEEXx ZEF 2012.1.7 2% FHOa=7

60 1:2305 =M £3} mE 2012.2.11 5 WA A K&
61 1:23.61 {PiE IE ERE 2012212 ¥% 9257wt

62 1:38.10 B Efb KHETE 2012.1.14 X% B2 7HhE{E



	3m500

